3.3 ?Mabo {ag . The &r&P}\_g O'ID ch’érdi’é E@L{Aii’éﬁé

Sw?fese don want o gzm’bi«x 3 %Méimiic: éﬁudiéfn

H

ka:t 3&»\ ww»\i/ *2[9 be abie ‘}b

lies 1n Cauplg-}ing '%iap r%uafﬁt

4 = axt by +c :

do So ea:ila. The <ecret
Ca»f}{’%‘f
WS@M(

7
— - + k
::f}i‘?"’rf}(’c —> ta.,d(xk\

OQ %{,{ 6%5{”\}{,5{, éfDWA:J?fM iS

wis  Secomd For
e pecamse if we let er}

much  easier fo %mfk

Ko W c’,ei: 4 = awa+k= K.

Thas  the poivk (h k) lies on Hae ?,mfk.

/\ \@’ i h
\) , AX 1S of Sgpmma%x;{_
(0,6)
-— — > X
k- \\&aros of roo'}_\.‘ 0‘? e ‘?““4+{M
(hk —
N OF Mt all fuﬁko\aﬂ have

zeros ?.
A Z\;%of é’_:«g‘ ’}\//\/
OF How do we %E% L&%ﬁﬂ '_:fg?
A\: Cmi@ﬁa %"% S%mwfé on ‘“‘5\@ %MQMQ ga@uaiééﬂ/ —_D






ta_ = &{,X"g’\)z t (Z‘

“Two ca$es .

o> O coneavd 4 U

1) 229

concayé 6’&0!”’?@ /}
Z> A< 0O W

RS-

_ . _alx-b) 4+ k form,
Ex . Pk é(: ~3xt - X -%7 into 5‘*'4<X h) "
A b c

A
o = -3(rF) tlz
. i
&T&E‘ffwji : j iz -2 = ~3 (K"‘F‘i)
{ L“ - ix‘("’i’i}z

| i\ﬁ{ = x4
~ T L§ }(»—;:“}i\j“f
3 {
X =-|lt2

= | .-
X ;)3



@ When  an object 18 Hoown  upwards  with 4 speed
of oo g, 5 s Reigiﬁi above é,{aM i a.iven. fe?

Z&(%’\ = -1ttt o0t where T s He time in Seconds

g\-g-%rgr ;‘%" L\éj it>€8bt, +L\,'ch;@q
g\} Ad WM %img w%ii the 05{}7%‘% reach. E%s

M%}c&l ,baiv\?t?
1t + O
\at"t\: i%;t Jr\Li?/.t e’
A b <
he Zb = e . 52 Jgags |
24 2(-16) | & L//A
L) How igh will thet poid be (in Feet) ¢
3 Hac —b" _ HEw)(e) ~ (190
4 4 (-1e)
= 10,000
'“617’




